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K= (1-sin® )/ (1+sin@ ) = (1-sin25° )/(1+sin25° )=0.406
= FEAIE
P=Kx (y xH)=0.406 % (18 x 0.6) =4.385kN/m
W E
M=P x 0*/8=4.385 x 1.95°/8=2.084kN-m/m
S=P x2/2=4.385x 1.95/2=4.275kN/m
AR 142 (300mm) &Y DEFE 11

M=2.084 X 0.3=0.625kN *m=625000N =mm



S=4275%0.3=1.283kN=1283N

1) #MHE D6- 54K

As=231.67 x 5=158.35mr

2) RS

b=2300mm

b

3) AxhE

d =45mm

d’ =15mm
4) §kARLE

P=As/(bx d)=158.35/(300 %X 45) =0.01173
5) fSLEHLE

k=4 ((nXP)*+2XnXP)-nX P n; YU RELE n=15
=4 ((15%0.01173)%+2 % 15X 0.01173)-15 % 0.01173
=0.443
6) AL EERE L
j=1-k/3=1-0.443/3=0.852
EfEIS D E
0 c=2XM/(kXjXbxXd’) =2 x 625000/ (0.443 x 0.852 X 300 X 45°)
=5.452N/mi <o ca=8.6N/mri OK
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0 s=M/(As xj X d) =625000/ (158.35 X 0.852 X 45)
=102.946N/mf <o ca=180N/mii ~ OK
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T =S/(bxd )=1283/(300x% 15)



=0.285N/mi <t a=0.45N/mn OK
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K= (1-sin@ )/ (1+sin@ ) = (1-sin25° )/ (1+sin25° ) =0.406
ERXE
P=Kxy XH=0.406 X 18 X 0.5=3.654kN/m
ZELEZRE

K = (1+sin@ )/ (1-sin@ ) = (1+sin25° )/(1+sin25° ) =2.46

P=K Xy XH X0.3X3=246X18%0.5%0.3%3=19.926kN/m
FETAMEE—ADE

M;=3.654X0.5%1/2%0.5%2/3=0.305kN*m/&

M,=19.926 X 0.5% 1/2 % (1.0-0.5/3) =4.151kN-m/&K
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